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A pulse of electromagnolic radiation can be produced 1

ta! Acceleration of a charge.
(b} Charge moving with steady velocity.
@) Slow variation of carrent in a conductor
(d) Al the above.
The self inductance of a coil is measured using -

(s} Metro bridge. (h) Potentiometor.
e} Wheatstone's bridge. (d) Anderson bridge.
(12 = ¥ =8 weightag.
Part B

Ansiwer all guestions
Each guestion carries 1 weightage.

What are non-inductive coils ?
Define attenuation constant.
Explain polarization of EM waves.

What are the steps to be taken while applying the superposition theorem to the solution of
nietworks T

What is skin effect ? How is it minimized 7

What is inductive reactance and capacitive reactance ?
Define virtual ampere and virtual volt,

State and explain Kirchoff's current law,

Explain operator j and show it graphically.

1

(9 x 1 = 9 weightage) |

Part C

Answer any five.

Prove that magnitude of the induced emf |
Al 18 equal to the rate of change of induction in a cosed

taken for half the charge on the condensiy 1o escape istance of 10 megohms, Find the tne
Derive an expression for the energy stored i T . | ol

; 1 .
having an inductance of 60mH when o mmt';;";i*ﬁ?:zﬂihirntmlum the energy of an inducte®
o a plane em wave the electrie fiald wsci]Intes sifiusn Ak 4
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o coil is 3.0 mH. A current of 5A flow
Mﬂﬂ. the induesd emf ,

of repulsion botween n ol mﬂmg ne. und n neighbouring conductor,
(5% 2 =10 weightnge)

b 90813
through it. The current'is reduced 1o

Part
Ansuier any two.
w and Ampere's law using the concept of magnetic vector patential
ell’s s in an isotropic diolectric medium.
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